TOP ROLLER

PER

12 GA. GALV. COMMERCIAL

ATTACHED W/(4> 1/4" x
3/4* HEX HEAD SCREWS

BRACKET

BRACKET ]

TYPICAL TOP FIXTURES
N.T.S.

SEE (TABLE 2> DN PAGE 3 FDR
RECOMMENDED SECTION CONFIGURATION

ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (2 1/4* x 1/2°
BOLT & NUT PER BRACKET

@I

l"'

3 5/8° 22GA. R-TRUSS ATTACHED
W/ (@) 1/4° x 3/4"

HEX HEAD SCREWS AT

EACH CENTER STILE

27 10 BALL STEEL
5* MIN STEM ROLLER

S

14GA., DURASAFE

CENTER HINGE ATTACHED
W/ (4) 174" x 3/4"
HEX HEAD SCREWS

24 GA. MIN EXTERIOR SKIN
w/BAKED ON POLYESTER FINISH

A

N.T.S.

<TOP>

1|

THROUGH
H

TYPICAL DURASAFE CENTER HINGE@

STILE STIFFENERS (3
[ LOCATED IN HINGE HOLE(S)
ON TOP SECTION DNLY

HOLES FOR STRUT
ATTACHMENT (IF STRUT

ON
O

1

@) 174" X

HEX HEAD SCREWS

TYPICAL STILE STIFFENER

Z IS REQIURED)

H B
- : ; o |
Luczwﬁﬁ— v L N.T.S.
SEE TABLE 4 ON PAGE 3 SEE (TABLE 1> ON PAGE 3
FOR STILE PLACEMENT FOR STRUT SPACING
9-0° MAX |

INSIDE ELEVATION

N.T.S.

2 20GA. STRUT
ATTACHED W/

3/4*

AT END AND CENTER -
STILES 19
2
o oo
o Vo
@oce
I
2’ 10 BALL STEEL

57 MIN STEM ROLLER

TYPICAL BOTTOM BRACKET

ADJUSTABLE SLIDE BRACKET
ATTACHED W/<@) 1/4-20 x
5/8* TRACK BOLTS AND NUTS

14 GA DURASAFE AJUSTABLE
ROLLER CARRIERS ATTACHED TO
3 5/8° 22GA R-TRUSS W/
174" X 3/4’ HEX HEAD SCREW

BOTTOM BRACKET
13 GA. ATTACHED
W/(3) 1/4* X 3/4*

HEX HEAD SCREWS 3 5/8" 22GA.

R-TRUSS
ATTACHED W/ (4
1/74* x 3/4* HEX

HEAD SCREWS

3 3747 MIN

_“ SIDEROOM r

N.T.S.

STOP MOULDING
W/ FLEXIBLE SEAL
(SUPPLIED BY INSTALLER)

(3) 20 GA. CENTER STILES
ATTACHED WITH (@)
TOG-L-LOC AT THE TOP AND
BOTTOM RAIL AND ADHESIVE
TO INTERIOR FACE

| 1

@)

e
TYPICAL DURASAFE END HINGE

S

14 GA. DURASAFE
END HINGE ATTACHED
W/ (@) 1/4° x 3/4°
HEX HEAD SCREWS

4GA. DURASAFE

ROLLER CARRIERS ATTACHED

TOD END STILE W/ (3) 1/4* x 3/4°
HEX HEAD SCREWS PER CARRIER

27 10 BALL STEEL
9’ LONG STEM ROLLER

SLIDE LOCK ENGAGES INTO VERTICAL
TRACK ON BOTH SIDES S5/8° MIN
ENGAGEMENT (SNAP LATCH, OR LOCK
BAR OPTIONAL) ATTACH W/(2) 1/4" x
3/4* HEX HEAD SCREWS

20 GA. GALV, STEEL END STILE
ATTACHED WITH <7> TOG-L-LOC
TO DOORS SKIN AND (2
TOG-L-LOC AT THE TOP AND
BOTTOM RAIL

(1) 7/18” DIA.

N.T.S.

5/16" x 1 5/8" LAG
SCREW (1> PER

©

2% THICK —=—=

2 GA COMMERCIAL

3 GA. FLAG BRACKET ATTACHED TO wDOD
JAMB
W/ (3 5/16 DIA. X 1-5/8" LAG BOLTS AND TO

R-TRUSS) GALV. STEEL R-TRUSS
ATTACHED W/ <4) 1/4" x 3/4"
HEX HEAD SCREWS AT EACH END
STILE AND <2) 1/4* x 3/4" HEX
HEAD SCREWS AT EACH CENTER
STILE

1) 2 20GA STRUT AT
BOTTOM PANEL

CONT. STEEL RETAINER
W/ BOTTOM SEAL

SECTION A— A (SIDE_VIEW)

N.T.S.

LARGE MISSLE
IMPACT RESISTANT

\,

BOLT RETAINER
PIER ROLLER

JAMB BRACKET

SPLICE BOLT AN
JAMB BRACKET

5/8°H X 22 GA
(3 5/8" R-TRUSS>

(1> 1/4-20 x S5/8°TRACK

D NUT PER

TRACK MO

2" GALV. STEEL TRACK

TRACK THICKNESS .083"
CONT. VERTICAL JAMB 2X

UNTING DETAIL

(NO.

N.T.S.

SYP OR SPF
2 OR BETTER)

THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
WITH THE PROCEDURE DESCRIBED IN ASTM E330, E1886, E1996
F588 AND DASMA 108, 115. THE PRESSURES SHOWN ON THE
DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE
END ZONE, ROOF AT ANY SLOPE, AND I=1.0):

WIND SPEED (MPH) 180 163 155 148 142
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT 30 15’ 25’ 15’ 25’

) TOP FIXTURE ATTACHED W/ TRACK W/ (4 1/4°-20 x 5/8 TRACK SPLICE
(4) 1/4* x 3/4" HEX HEAD SCREWS BOLTS AND NUTS
ADJUSTABLE SLIDE BRACKET ATTACHED
W/@ 1/4° x 1/2° BOLT AND NUTS
SPLICE TRACKS AT THIS LOCATION
W/ (4) 1/4°-20 TRACK SPLICE BOLTS & NUTS
SECURE T0 JAMB WITH (3) 5/16” DIA. x 1-5/8"
s LAG BOLTS
- (SPLICE>
\ (1) 5/16” DIA. x 1~5/8"
LAG BOLT ATTACHED TO JAMB
> 3 5/8° 22GA
R-TRUSS PER SECTION AT EA. JAMB BRACKET
% 12 GA. GALV. STEEL
i s JAMB_BRACKETS
! (THROUGH> ATTACHED W/ (1) 1/4™—20
N TRACK SPLICE BOLT & NUT
F
END_HINGE
14 GA.
E
D -
c ] |
N
M w—
{ _sre raBie ) on pace 3
FOR JAMB BRACKET SPACING
3 S/8°H X 22 GA (3 5/8" TRACK CONFIGURATION FOR 6'6” UP TO 14’ TALL DOORS

REV | DESCRPTION OF REVISIONS DATE  [BY
A | AFRVATION TO 2007 FEG MCDEL 655 & PG3 ADDED | 06/11/08 | SKW
B | WND SPEED TABLE & TRACK CONFIGURATIONS  (05/01/12 |RIR

. O

MAX SIZE | _= es

9 x 14 §§ Q.,\\\\\ 25

DESIGN LOADS| %8 = EQF £ iz

+51.1 PSF | wi PANIOR ;f’ 5

-60.3 PSF | xE 2 ox" £8

EF ok ~ A s g S

X Lk N Zo

GT Aeeretiefescinend, ..3. -4 55

S 7 THOMAS L. SH D!NE/ £y

Z—i 2 ,---;' n--n--.Acno--.--»-.-.:-'--/ g(

Es 1.5 85829 oS 33

25 A 77 P Qe

LARGE MISSLE| &3 Wos: LI0ENSED. S 5.8

IMPACT _ | =% s SN\ E

RESISTANCE | 85 S/oNA\_E“ 5=

g3 M ag

"5 TX £3

arr

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM

MODEL 950 HERITAGE (24 GA) 1000, 2000
MODEL 655 OAK SUMMIT (24 GA) 1000, 2000
SHORT, LONG, FLUSH, AND OAK SUMMIT PANELS

SZE| DRAWNBY  DLI| DATE 03/12/03 DRAWNG NUMBER
B | CHECKEDBY AAE| DATE 03/14/03 IRC-9509-180-21
SHEET 1 OF 3




DOOR HEIGHT

_—_

SPECIFICATIONS AND NOTES
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD

TRANSFERRED FROM THE DOOR.

INTERIOR OF GARAGE

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:

+230.0 LBS/FT & -271.4 LBS/FT

3. DOOR AND HARDWARE WILL BE DESIGNED,
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 24 GA. (.024) MIN. EXTERIOR SKIN

o

ROLLED FORMED, W/ BAKED ON POLYESTER

= 5. DOORS UPTO 7°0" HIGH CONSIST OF (4) SECTIONS AS SHOWN.

USE (1) 3 5/8” R—TRUSS PER SECTION

ON PAGE 3

[

NN

N

VERTICAL LIFT

MANUFACTURED MAX. WIDTH 90

FINISH pEsioN Loaps [ [ | F{ P11

+230.0 LBS/FT
-271.4 LBS/FT SEE NOTE 2

6. DOORS OVER (4) SECTIONS REFER TO TABLES 1 AND 2

7. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

£ 3
= 2
ngll" 2 2
gyf X 5 =k
S 1. < g
II? w _Id
h

@ I |

AVAILABLE TRACK CONFIGURATIONS

WOOD JAMB ATTACHMENT TO STRUCTURE
2 X 6 VERTICAL JAMB ATTACHMENT FRAM TRUCTUR|
5/16° X 3 LAG SCREWS STARTING 6 FROM ENDS THEN 20 O.C. (1 1/2* EMBEDMENT)
AMB ATTA NT P NCRET

HILTI KWIK BOLT 3/8° X 4 STARTING 6 FROM ENDS THEN 247 OC. (2 1/2° EMBEDMENT>

HILTI SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 6 FROM ENDS THEN 18“ O.C. <1 1/4° EMBEDMENT)
ITW/RAMSET REDHEAD (TRU~BOLT> 3/8° X 4° STARTING 6 FROM ENDS THEN 24 O.C. (2 1/2° EMBEDMENT)
2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BL

SIMPSON 1/4* X 3* TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS

(3* APART> AT 87 O.C. (1 1/2" EMBEDMENT)

HILTI 1/4” X 2-3/4" KWIK-CON II+ SCREWS STARTING 6” FROM ENDS, USE PAIRS OF

FASTENERS (3" APART> AT 8” O.C. (1 1/4" EMBEDMENT>

RTICAL JAMB ATTACHMENT T T - OCK <2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8“ X 2-3/4‘ STARTING 6° FROM ENDS THEN 22° O.C. (1 1/4*
EMBEDMENT) (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION DF wOOD JAMBS BY OTHERS

A A} \

1
HOLLOW BLOCK

WOoD CONCRETE GROUTED BLOCK
5 STRUCTURE STRUCTURE STRUCTURE STRUCTURE
z ] ] f
o
/m L L \ b \ ! I '
g | - 1 i T
172 MIN 2-3/4" MIN 11727 [MIN 4
2X6 JAMB
TYB. 3 MIN

REV | DESCRIPTION OF REVISIONS DATE  [BY
A | AFIRVATION TO 2007 FBG MOCEL 655 & PG3 ADCED | 06/11/08 | SKW
B [ WND SPEED TABLE & TRACK CONFIGURATIONS | 05/01/12 | RIR
o
MAX SIZE | & £3
9 x 14 gé ‘._"\\\\\\\ g‘N
DESIGN LOADS| 8 <~ <eO0F e\ S2t
=7 =X Zvossaa, * ) S
+51.1 PSF | wk A Ak D e NP -
-60.3 PSF | xE 2 9, W 8
EE U * 4 58
% gy 9728
o= P ores " esenceasply’ oV
g2 77 5) %5
e
LARGE MISSLE| £2 'C/ -~ 8582 i&s 8%
IMPACT 53 W Q" 58
RESISTANCE | 59 !\OK‘ ‘ /.CEH'_S..--'G\\\Q;! Sk
55 WOSIONALEY 2 EE
%3 AT a9
= ©
"R TX £8

arr

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM

N.T.S.

MODEL 950 HERITAGE (24 GA) 1000, 2000
MODEL 655 OAK SUMMIT (24 GA) 1000, 2000
SHORT, LONG, FLUSH, AND OAX SUMMIT PANELS

SE

DRAWN BY  DLJ

DATE  03/12/03

DRAWING NUMBER

CHECKED BY  AAE

DATE  03/14/03

IRC-9509-180-21

SHEET 2 OF 3




TABLE 1 TABLE 2 TABLE 4

DOOR |STRUT SPACING (BASED ON RECOMMENDED -DOOR SECTION HEIGHTS Section Center Stile Location
HEIGHT SECTION CONFIGURATION) TOP HEIGHT Panel Type (Measured from Left Edge)
Width yp Tst 2st 3rd
() (in) (in} (in)w ,
Long 24.000 48.000 72.000
8'0 Bead 24.625 48.000 71.375
Long 24.500 49.000 73.500
Bead 25.125 49.000 72.875
Long 25.000 50.000 75.000
Bead 25.625 50.000 74.375
Long 25.500 51.000 76.500
8'6 Bead 26.125 51.000 75.875
, Long 26.000 52.000 78.000
88 Bead 26.625 52.000 77.375
51/2" ' 160 1/2" Long 26.500 53.000 79.500
810 Bead 27.125 53.000 78.875
TABLE 3 s
DOOR TRACK ATTACHMENT SPLICE Long 27.000 | 54000 | 81.000
9'0 Bead 27.625 54.000 80.375
HEIGHT|A| B | C| D | E| F | G| H | J K|{L]|M]|N S
4 3" | 14" | 27" | 38" | 46" | 56" | 68" 76" REV | DESCRIPTION OF REVISIONS DATE  [BY

A | AFIRVATION TO 2007 FBG, MODEL 686 & PG3 ADCED | 06,/1/08 | SKW
B | WND SPEED TABLE & TRACK CONFIGURATIONS | 05/01/12| RIR

8' 3u 14" 27" ’ 38" 46" 56" 68" 78" 88"
MAX SIZE
9 x 14
DESIGN LOADS
+51.1 PSF
-60.3 PSF

J

£

@
£
°

=4

.........
.
‘-

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

5921-G W. Friendly Ave., Greensborg, NC 27410

10’ 3" | 14" | 27" | 38" | 46" | 56" | 68" | 78" | 88" [100" M2 | 5% ¢THOMASL SHELMERDING g
S i I i Ei — LARGE MISSLE E
IMPACT 3
: RESISTANCE ..ENS_.... é’/’ g
11 3" 114" | 27" | 38" | 46" | 56" | 68" | 78" | 88" |100"|110" 124" (cip}]&if\\ = 5
X 5
Awmarg
14" | 27" | 38" | 46" | 56" | 68" | 78" | 88" [100"[{114"|122"| 134" 148" S LODEL 950 FERITAGE (54 GAT 1000, 2000

MODEL 655 OAK SUMMIT (24 GA) 1000, 2000
SHORT, LONG, FLUSH, AND OAK SUMMIT PANELS

50 A0 0 122"(134" 144" | 154" _ sont, o bl i i i
3 27 46" | 56" | 68 IRC=9509-180-21

B | CHECKED BY AAE| DATE 03/14/03
ALL TRACK ATTACHMENT SPACING +/— 2” ALLOWED WITH SYP OR SPF NO. 2 OR BETTER SHEET 3 OF 3




